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1
100%

 J
M

ax 150
0 m

²
J 2 k 

 
 20 kohta

2
50%

Ä
; 50%

Th
m

ax 220
0 m

²
Ä

 3 k; Th 2 k
41 kohta

15 kohta
56 kohta

3
50%

Ä
; 50%

Th
m

ax 220
0 m

²
Ä

 3 k; Th 2 k
41 kohta

15 kohta
56 kohta

4
50%

Ä
; 50%

Th
m

ax 120
0 m

²
Ä

 3 k; Th 2 k
23 kohta

8 kohta
31 kohta

5
50%

Ä
; 50%

Th
m

ax 130
0 m

²
Ä

 3 k; Th 2 k
24 kohta

9 kohta
33 kohta

6
50%

Ä
; 50%

Th
m

ax 120
0 m

²
Ä

 3 k; Th 2 k
23 kohta

8 kohta
31 kohta

7
50%

Ä
; 50%

Th
m

ax 150
0 m

²
Ä

 3 k; Th 2 k
28 kohta

10 kohta
38 kohta

8
50%

Ä
; 50%

Th
m

ax 140
0 m

²
Ä

 3 k; Th 2 k
26 kohta

9 kohta
35 kohta

9
50%

Ä
; 50%

Th
m

ax 600 m
²  Ä

 3 k; Th 2 k
11 kohta

4 kohta
15 kohta

10
100%

 L (pa
rkla)

-
-

-
-ca 36 kohta
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100%

 L
-

-
-

-
-

12
100%

 L
-

-
-

-
-

13
100%

 Th
-

-
-

-
-

14
100%

 L
-

-
-

-
-
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T
ootm

isho
on
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aa krundi p

arkim
ise a

rvutus: 6*=
(3*/2)x2/1
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